108 2x10°

BIC

5x10°

2x10°

5

10

log[ Relative Probability ]
—-500

1000

100 1000 10*

Window Half—Width (km/s)

10

rm872 x*/(408400—5073)=4.233
F L A — T 1 ‘T T T 1 T T T T T T T T T T4
BIC 1772686.75 ABIC 0.000 AlogP 0.0000
e ¥’ 1707143.62 Ay* 0.000 AlogP 0.0000]
| 5073 1
A
1 1 1 ] 1 1 1 1 ] 1 1 ] 1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ]
5 10 15 20 25 30
30 iterations
rm872 X%/ (408400—5073)=4.233
—

............. X% 1707143.62 Ax% 0.000 AlogP 0.0000 _

BIC 1772686.75 ABIC 0.000 AlogP 0.0000 |

Fe2 7% 0+0 km/s
BLR 3000 NLR 900 km/s

30 iterations

kdh1 15-0ct-2021 20:24

BIC

BLR

NLR



